Organic Chemistry I (CHEM 340) Spring 2016 Dr. Flahn MWF 8 am Quizl Exam#

Name ' !( j/{a/ Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)

a. For the element Te show the electron configuration for all 1l electrons in the format 1s?, 2s%, eic
(the noble gas abbreviation is unacceptable) {2 pts ail other letters, 25 pts total) (3 pts this quf:&.tlons)

7 25 265 5t b 45y 3l Gt 55 4d' S

b. Pm the Sdme element qhow the: electton conﬁguratlon for all valence c—:iect ons in the same format.
S5t 5.7

. For the same element, show the gjlem:e electron confisuration orbital diagram in the format:

{}T _Jrﬁ etc} using up and down arrows to represent clectrons. (OK to write all on one line)

. 1y A L
d. ~ For the same egn%m, what is the gr?uﬁmmber ? ’23 C (0 ﬁ

e. For the same element, what is the atomic mass 7 f 2 . 7: Q? 0

f For the same element, what is the atomic number ? ng

i Lable
provi Aofl

T~ —
g. For a neuttal atom, how many total electrons does the element have ? 7 ’2 e

h. How many valence electrons does the element have ? Q) g'

i. Give the symbol of one Main Group element ,; F Pr l/ Q "l_‘C rty
!
3. What is the maximum number of electrons allowed in the d subshell 7/ Oe

k. How many orbitals are in the d sabshell ? i oy b ( Lﬁ/ (;

L What is the maximum number of electrons allowed in one orbital ? Z: Sl

Fxtra Credit: Given the following Lewis dot structures, which is the correct Lewis Dot structure? Circle
the letter under the correct structure and then give at least one reason why the wrong structure is
incarrect. {2 pts total, 1 pt explanation)
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Organic Chemistry I (CHEM 340) Spring 2016 Dr. Hahn MWF 8 am Quiz 1 Exam # § :(d

Name _ Print Name

Please show work on all questions for partial credit cven on questions which do not specify. (23 total pts)

a. For the element  Te show the electron configuration for all electrons in the format 1%, 25%, ... etc
(the noble gas abbreviation is unacceptable) (2 pts all other letters, 25 pts total} (3 pts this questions)

b. For the same element show the electron configuration for all yalence electrons in the same format,
c. Tor the same element, show the valence clectron configuration orbital diagram in the format:
{i i _ eie} using up and down arrows to represent electrons. (OK to write all on one line)
is 25
d. For the same element, what is the group number 7
2. For the same element, what is the atomic mass ?
£ For the same element, what is the atomic number ?
g, For a neutral atom, how many total electrons does the element have ?
h. How many valence electrons does the element have ? i
i. Give the symbol of one Main Grouj element
3. What is the maximum nuinber of electrons allowed in the d subshell ?
k. How many orbitals are in the d subshell 7
L What is the maximum number of electrons allowed in one orbital 7

Exira Credit: Given the following Lewis dot structures, which 1s the correct Lewis Dot structure? Circle
the tetter under the correct structure and then give at least one reason why the wrong structare is
incorrect. (2 pts total, 1 pt explanation) '
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